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MAT 126 MIDTERM

Recall that we use log to denote the natural logarithm (base e).
solved by algebraic manipulation and inspection:
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solved by substitution:
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solved by partial fractions:
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solved using an assortment of trig integral techniques:
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2
b) J\/9+x

dx

x2
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Note: The inverse trig function in d) cannot be simplified.

6. Find the derivatives of the following functions:
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(a) F(x) = Jx log(cos(t)) dt
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(b) F(x) = J todt
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7. Using Riemann sums, show that the function f(x) = x is integrable on [0, 1]
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and determine J f(x) dx.
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